s103.3v

EF1
T BCZZOT BC221
NFM18CC222R1C3D 0.1uF=—1uF
1033V
si03.3v
T EF2
1033V
BC222| BC223
EF3 0.1uF= — 1uF NFM18CC222R1C3D
T BCZZ‘J BC225
NFM18CC222R1C3D 0.1uF=—1uF
99 9 §991394 4 § 49
ua1
44 4 E EEEEEEE ZO Z QOQ
F7 7 5 5555555 Z&
88 8 =2 998988y g7 o ¥
8¢ € 8 5553555 g4 g 55 Ll= BUF_DDR CLKP BUF DDR CLKP
R4S3 9 S¢ ¢ %8 BUF_DDR CLKN ii
S103.3V I TOK(NOP) REF_SEL < UON BUF_DDR_CLKN
%451 pRi_REF+ .
%461 bR REF- up LR DDR_CLKPO
UIN DDR_CLKNO
25Mhz(ECS-250-8-36CKM-TR) 3
vi SEC _REF+ 16 LOOPBACK_CLKP
X—2- SEC_REF- uzp (=5 LOOPBACK CLKn
U2N
43
AUX_IN
x—13 1 Auxout usp BUE_CORE_CLKP. BUF_CORE_CLKP
X use BUF_CORE_CLKN BUFGORE-CLKN
R453 |
SI03.3V | I POWER_DOWN
il o bl ] — o
U4N X
R6L——) x40 eyt (ep
X411 EXTLFN .
PLL_LOCK < rronte
D0_SPI CLK DO_SPI CLK P
DO_SPI_CS0 SPI_LE REG_CAP1 S103.3V
DO_SPLDI Boaor o5 SPI_MOSI w REG_CAP2 o
DO_SPI_DO SPI_MISO 8 & o VBB 8
:3 8
e g o BCZZST BCZTJ BCZZBT EczzJ ECZSO‘ BC231
&2 z z =010 0. 1R =0, 1= 0. 1uF=—0.1uF=—0.1uF
AN )
e . 4 4
g
T BCZZZT B(:zzJ BczaJ ECZSST ECZSS‘ BC237
Ra54 0,10 0. 10F 0. 1uF= 0.1 —0.1uFT —0.1uF
——"10k(NopP) R455
= 1K =
1033V
EFa
T BCZSBT BC239 -
NFM18CC222R1C3D 0.0 1uF
1033V
1033V
T EFs
1033V
BC240| BC241
EF6 0.1uFm 1R NFM18CC222R1C3D
T BCZAZT BC243
NFM18CC222R1C3D = 0.uFE—1uF
948 o 9 4 9 49 =
u4z
T zo g Q0O
37 3 2 g0 3¢]
R B
oy 4% e
88 ¢ % g ¢ g¢ BUF_HYPERLYNX_CLKP
[2z  BUF HYPERLYNX CLKP -
sosay— RSy ol o0 8 ¢ 2 oo EUE BYPERLNX CLOT 30 BO | VpERL -Gk
[28  BUF HYPERLYNX CLKN <
TOK(NOP) > UoN B -
LOOPBACK_CLKP. 45
LOOPBACK CLKn 46 PASS CLKPO PASS_CLKPO
u1p X
Ui PASS CLKNO PASS CLKNO
25Mhz(ECS-250-8-36CKM-TR) 3
2 16 BUFPASSCLkP
Y2 uzp R BUF_PASS_CLKP
17 s Cl
U2n BUF_PASS_CLKN
i |2 s
U3N SRIO_CLKNO
v RA5T- 1
SI033V |
10K 141 5y usp — BUF_SRIO_CLKP
U4n BUF_SRIO_CLKN
CLK_DOWN %—40
* P37
PLL_LOCK < rrontr
DO_SPI CLK 2
DO_SPI_CS1 BS ii} gfl REG_CAP1
____DoseiDl a3 -~
DO_SPI DO w REG_CAP2
T DOSPIDO o
8 & o VBB
5 ¢
22 2
g o
28 z =z
FF O © BC244| BC245| BC246| BC247| BC248| BC249

<3
6
D

P’

=0.1UFS0.1URS 0.1uFS 0, 1UR =0, uF= =

B B B

0.1uF

T BC25{)T ECQSJ aczszT BczsaT BCZSA‘ BC255

0. 1UF==0.1uF=—0.1uF=—0.1uF=7=0.1uf

D




